[deg]

O
=
(o)}

1 do
o
dl_égplz
|_\
AN

Ratio to CMS

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

13000 GeV pp Jets
[ ] T I T I T I T I T | T I T I T I I T |_ 9
— .. - %
B AQ(j) (CMS back-to-back jets) 13
B =
-~ m CMS S
| --G-- Pythia 6.428 345 i
~ O Pythia 6.428 346 1=
A Pythia 6.428 370 —5
B Pythia 6.428 ambtl 1o
[ e Pythia 6.428 z1 &
— ——— Pythia 6.428 z2 ]
[ — T
- i ey
¥
| — ™M
B P
o
| — ™M
—
- 1=
- %
= s,
— Tl
| — O
B — €
| — O
O
I 1w
u -2
| — O
B N (@]
| . . . | . . . . &
| ' ' ' I ' ' ' ' =
= =2
1
L —0.5
| " 1 1 1 " | " 1 1 1 1 " |
170 175 180



	Contents
	Page 1


